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import sys
sys.path.append("statlib™)
from univ import Weibull_parameter

Weibull_parameter(x, epsilon=1le-7, max_loop=500, verbose=True)
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#1 72 L 212, http://aoki2.si.gunma-u.ac.jp/lecture/Bunpu/weibull.html



3.188, 3.094,
3.919, 4.718,

2.655, 2.502,

x = [0.624, 2.125, 3.966, 3.06, 2.17, 1.994, 2.556, 1.392, 1.23,
.603, 4.028, 2.455, 1.916, 1.53, 0.263, 1.786,
.054, 1.069, 2.468, 2.074, 4.705, 1.59, 2.334,
.882, 2.755, 1.921, 0.796, 4.489, 0.317, 0.9, 0.737, 3.142,
.499, 3.195, 3.671, 5.904, 1.02, 0.577, 5.719,
.911, 0.906, 5.232, 3.019, 3.145, 1.134, 2.043,

.226, 3.915, 3.403, 0.238, 0.368, 4.41, 4.033,
.964, 2.417, 0.717, 1.798, 4.135, 1.323, 1.692,
.006, 4.739, 3.124, 0.288, 0.749, 1.008, 3.326,

w = N & NS

import sys
sys.path.append("statlib")
from univ import Weibull_parameter

a = Weibull_parameter (x)

2.99, 1.225,

.81, 1.444, 2.53, 4.162, 0.755, 6.327, 3.768, 2.327, 3.049,

3.237, 4.248,
1.805, 1.077,
2.225, 1.027]

shape = 1.6928, scale = 2.7625




